
Answers to Conditional Probability Problems 

 

1)  

a. 𝑃(𝐾) ∙ 𝑃(𝐷′) =  .2625 

b. 𝑃(𝐾) = .75  

c. 𝑃(𝐷 ∩ 𝐾) =  .4875 

d. 𝑃(𝐷/𝐷 ∪ 𝐾) =  .7123 

2)      

a. 19 

b. 
11

70
 

c. 
19

36
 

3)  

a. 𝑃(𝐴/𝐵) =  
1

2
=  .5 

b. 𝑃(𝐵/𝐴) =  
5

6
=  .83̅ 

c. 𝑃(𝐴/𝐵′) =  
1

10
=  .1 

d. 𝑃(𝐴′/𝐵′) =  
9

10
=  .9 

4)  

a. 
8

45
 

b. 
22

45
 

c. 
6

11
 

5)  

a. 
1

2
 

b. 
3

10
 

c. 
1

4
 

 

 

 

6)  

b.  
1

2
 

c.  
2

3
 

 

7)            
1

3
 

8)  

a. .33 

b. .49 

c. .82 

d. .551 

 


